
Y6 – Autumn – Block 2 – Step 2 – Multiply up to a 4-digit number by a 2-digit number Answers

Question Answer

1
Eva is correct.
7 × 4 = 28, so the answer must end with 8

2

a)

b)

c)

3

4 2,660

5 £112.50

6 621 × 53 = 32,913

7
Rosie does more sit-ups.
She does 2,035 more sit-ups.

8
Before playing the game, children need to work out the letter intervals. Each interval is 
10,000, so A is 0–10,000, B is 10,000–20,000, etc.

1 7 56 0
3 7 0 5

5 4 56 5

0 7 28 0
6 1 4 4

6 8 69 4

8 4 68 0
1 8 6 8

0 3 23 8

1

4
4
5

2 3
2 4 1 3

5 4 95 9

3 7
1 2 4 7

6 1 34 9

2 9
2 0 3 1

8 8 95 9


